- Which blood vessels hay

10.

Whiclh of the following is not
the vitamin B complex?
(A) Thiamine (B) Riboflavip

(C) Folic acid (D) Ascorbic acid

; e the smallest
diameter?

(A) Capillaries (B) Arterioles
(C) Venules (D) Lymphatic
Which of the following is an air-borne
disease?

(A) Measles (B) Typhoid

(C) Pink eye (D) None of the above
Which of the following hormones is a
steroid? .

(A) Estrogen (B)-Glucagon

(C) Insulin (D) Oxytocin

An electron possesses a negative charge
of:

(A B0 e
(C) 26 x10°1° C

(B) 1.60x10™"° C
(D)1.8x 107 C

a member of

ﬁt?%%mﬁ%aﬁq <

e 0 foerfe & whra @
(A) grgfim (B) Isavifas

©) wiftid WRis (D) weapifior vRre

5 <% TRl o arw waw vier B 27
(A) BTy (B) &=
(C) faRemy (D) aifaesr

Fr=fead & @ at—ar arg wifva I 89

B) TI3%IgS
Eé;%ﬂﬂmﬁm Eniwﬁ?ﬁﬁaﬁ?“ﬁ
Freferfam # & @i gl WS €
(A) WIS (B) Te[@TTd
(C) ggfer (D) 3if

U TGS BT FUIHS JATA E*Ta‘_r ;5‘:
(A) 16 x107"° (B) 160 X 1919 &@r
(C) 26 x 107" ¥ (D) 1.8 x 10 " ¥

f FIed g 87
How many electrons taken together make | 6. (ﬁg’*’rsmiﬁﬁ? @
one coulomb? : : ’ sﬁ‘crgﬂffu
(A) 6.25 x 10'® electrons (B) 325 x 1013 s‘c?f?@ff
(B) 3.25 x 10'8 electrons (C) 225 % 1016 s'é“c@lﬂ'
(C) 2.25 x 10'® electrons (D) 425 x 10" SeldgIA
(D) 4.25 % 10'® electrons o el e &
One ohm is equal to: { s o 1Eﬁ?jﬁ/ﬂj
(A) 1 volt/ lampere b /1@{‘ ¥
(B) 1 volt/ I coulomb i 135|(_’“7&'
C) 1 volt x 1 ampere TR

i 1 volt x 1 coulomb (D) 1dlee X 1epIeTrd

V 0
= ical compound 8. wrargfie difiie RDX &1 SuanT fda wu 4
In which form the chemica | iy
RDX is used? N () T e
(A) As an composition ok ikl Lo}
(B) As an reactor. e W_ﬁﬁiqﬂa e s
EC) As an prllozlrv;capon s

P e ‘ used as.... 9. SII—XNRME Afrel &1 I forg wa #

Bio-chemical compounds are oo o &
(A) Skin Treatments (A) I STAR
(B) Food preservatives (B) @rel e
(C) Cooking O1ls (C) @I U™ & e
(D) All of the 250V€ (D) T T

h of the following indicator used in | 10. &1 ST e Trﬂle &7 IR

hich o 2 .
:;lafitcrmination of hal'C(lll;ﬁ)‘Sghe nolphthalein Eé)) LS R (B) $=rewafer
(A) EBT G e {10 Thymol blues fremge aifve (D) engerer e
(C) Methyl ©
_—,// ’ 7OT7SETC

I =2 = s, i e

Downloaded from www.cclchapter.com



_— | o

-Clronic computer 11. ugeh sogeifa agex ENIAC CARRERSE

CRIDINIf
g (A) T =H
; (B) 9RI%, T, @S

(C) & IR T@e

(D) &1 (A) 3R (B)
g is the largest unit | 12, i 3§ & P-4 @R & Ta@ I8 3BT

8?
B) KB (A) S (B) @1
) TB (C)dr (D) &l
» permanently stored | 13, WUTH S gSddR & ®Y A WS dX W) A9 §
'm of hardware is HUETT BT B D ®Y H ST ST B |
? (A) BRRR (B) HFecdar
B) Software OC)wdgR (D) IR
D) Romware : .
rocess of dividing a | 14, .o f&w @ o1 ¢ 3R e F Al
ectors. I B ufshar & '
B) Formatting (A) efer . (B) BT
(D) Allotting _ (C) B3 (D) TaitfeT
:nt memory built into | 15. 3B HIeY # R g 488 &1 @ G|
2 ST 87
(B) Floppy (A) ¥ (B) ey
(D) ROM (C) Wiy, (D)
puter screen is made | 16. TP PYER WH W (@ Bfd...... Gl
............. ' Ao & a1 Bl 2|
(B) Pixels (A) d13¢ (B) fiwdcd
(D) Palette (C) fae (D) teie
inch (DPI) measure? | 17. (DPI) Sfew ufd ga @ar Hudl 87

(A) fdeq @1 ww
; on a computer (B) e Vb T fUrgeT &1 99

' (C) for w facw @1 v

n the disk (D) ¥TE %@ W Gud uifhas Hrgat &
aphic file stored on L]
sed type of database | 18, S HrT RiweH @1 a9 AE Y W
is: eIl o T erE

(A) Tl Srerd
se (B) Wead SeHd
ase (C) Rerere srerdd
abase (D) geTmiAT S
resent on a data flow | 19, f;la Fell SIUT1 R Ade @l welfa e

87
1 Destination (A) erer Art 3l SRevr

(B) SreT el
Process (C) e;q-q;p‘fgr;{ yfdhan
Yy (D) srer 93R
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application
> client computer.
3) Front end

J) Java

f following crop
B) Wheat
D) Maize

commonly known as
B) Red gram
D) Green gram

ion in mungbean
(B) Hypogeal
(D) Epi-hypogeal

L per cent

(B) 30
(D) 10
mally contains
yrotein and

(B) 25 and 45
(D) 35 and 50
.......... family

(B) Malvaceae

(D) Lineaceae
O MEANS. . cvvrrnnenesess ;
e buds in the axil of

aves
rminal buds

.............................

on in wheat is normally

se

Titiation stage
age
ge
ariety

(B) tha[
(D) Gram

of following crop

20, T R R —
ST g FESY P WA B R awan
2 |
(A) 9@ TS (B) e e
1. Sohy_y7 T AT B B UF 6w §
(A) Harwet (B) TE
5o aRER (IR FER) B SAAN W
................... & Y A W I
(A) el T (B) @iret =
(C) et = (D) &
23, H1 P &t # AGTT B JHR
(A) ............. i
(C) Fw-gRea (D) T
24, |ArEHE H...... ferera W |l Bl ®
(A) 20 (B) 30
(C) 40 (D) 10
25. @uﬁﬁa%eﬁmﬁmwﬁ ...... yrfererd
o iR ... vfdrerd Ol O S ©
(A) 20 3iX 45 (B) 25 3i¥ 45
(C) 30 3R 50 (D) 35 3iR 50
26. FUN ....... TRar I Gafdd &
(A) afest (B) wrera=T
(C) BT (D) ferredt
27. da ® ST @ e
(A) ufert @1 & # wferat @Y germ
(B) uftral & gemr
(C) =it wferal @1 gemm
(D) uferat &1 Serm
28. 2,4~ W.....2
(A) drewse
(B) 7 eyt
(C)Wﬁ‘aﬁm
(D) A3k B '
29. W uEel R |
B R A A
(A) Faig zRoy
(B) TS+ %2 ey wqor
(C) 99 aramery
i e, o
. WG, 3785 f*
........ 6 ?,%Wfﬁwfmﬁ
Aywagr
(C) ¥ (B) g
(D) ==
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&in of *Bhadavari’ buffalo

(B) Haryana
(D) Uttar Pradesh

Owing bovine animals of
reed is

(B) Amrit Mahal
(D) Kankrej
scabies fever in animals is

|
" these
the following grain-food is
h cow to protect its body?
(B) 2-2.5 kg.
(D) None of the above
first calf of a hybrid heifer

ionths (B) 24 to 30 months
onths (D) None of the above

ollowing is a foreign breed
(B) Ongole
(D) Kangayam
following is a breed of
(B) Devani
(D) Gir
best basis for sorting
ig bulls 1s-
y (B) Texture
(D) Breed
following is a milch breed of
(B) Sahiwal
(D) Dangi

m percentage of fat in the
davari buffalo’ is-

(B) 9.0%

(D) 13.0%

31

32,

a3,

34.

35.

36.

2l

| 38.

39,

40.

“weTadl W’ @1 Il WH 8-
(A) USTe (B) fkamm
(C) ToRTE (D) STR U<

IRA B ‘Mady oy’ # warcE fears
T B

(A) SIELIEG Y (B)W
(C) sRamm (D) BTH
ggEt § Al g@R BT AT g 8-
(A) fauro] grr

(B) Siram gRI

(C) Hrersiis grRT

(D) s9% ¥ foefl @ Wt g7 ARI

Ud QU T P IHS INN—El & fery e
# 9 fpar ge—emeR faar ST 87

(A) 1—1.5 &t (B) 2—2.5 f&. 4T,

(C) 335 fd.a. (D) SWIad # | dIs 8l
TH WY AfAT B Y AT DI AT Bl o
(A)20 W 24 AIE (B)24 ¥ 30 A '

(C)36 W40 @8 (D) IWIGd H | B3 A
for # fageh v @ Ty B 87

(A) il (B) aifTrer

(GRICIEIC) (D) BT

= A4 9 o0 YRAE T &) A 27
(A) DTS (B) g
(C) Raeeirdl (D) fir

AR B—

(A) demaett (B) g19e

(C) IR (D) =%

1 & & B g e @ T 22
(A) Farch (B) wiréraret

(C) drerdy (D) SHft

‘Ul W B gy
N W H AT BT FfAbhaH yfererd

(A) 8.0%
(©) 11.0%

(B) 9.0%
(D) 13.0%
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Direction (41-42) In these questions, some
sentences are given with blanks to be filled with

| an appropriate word (s). Four alternatives are
suggested for each question. Choose the correct
alternative one of the four

48.

PROPEL
(A) Drive (B) Jettison
(C) Burst (D) Acclimatize

Fill the blanks with the right pair of words:

41. Evenif two horses may look , they | 49,
may not be of the same age. A mother has to.......... the pangs of
(A) comparable (B) alike giving......... to her child.
(C) only same (D) None of these (A) Bear, birth (B) Bare, berth
(C) Bare, birth (D) Bear, berth
42. We cannot go on strike every year. Now  [50.  Select the right modal for the blank:
that we have gone on strike we must Walking on the beach, we.......... sight of a
this issue. strange bird.
(A) cross (B) clinch (A) Catch (B) Catching
(C) culminate (D) co-ordinate (C) Caught (D) Catched -
Direction (43-44) In each of the following
questions, find the correctly spelt word.
43. (A) Reannaisance (B) Renaissance
(C) Rennaissance (D) Renaisance
44, (A) Recommandation
(B) Recommendation
(C) Recomandation
(D) Recomendation
Direction (45-46) In these questions, a
sentence has been given in Active/Passive
Voice. Out of the four suggested alternatives,
select the one which best expresses the same
sentence Passive/Active Voice.
45. They will demolish the entire block.
~ (A) The entire block is being demolished.
(B) The block may be demolished
entirely.
(C) The entire block will have to be
demolished by them
(D) The entire block will be demolished.
46. This surface feels smooth.
(A) This surface is felt smooth
(B) This surface is smooth when it is felt
(C) This surface when felt is smooth
(D) This surface is smooth as felt
Direction (47-48) Out of four alternatives,
choose the one which is similar to the meaning
of the given word.
47. FOSTERING
(A) Safeguarding (B) Neglecting
(C) Ignoring (D) Nurturing
7 //%W
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52.

o K F

54.

53.

56.

ol

58.

ﬁmﬂﬂ@rw%,mmzﬁ;,ﬁw
feres 2, 98 v o 87

(A) 25 (B) 150

(C) 175 (D) 200zﬁir

I8 [T AT QUi T DY (o 392

P IO B W O T I aif grar &7
(A) 6 (B)5

()3 (D) 2

a8 ~gAaH G a1 ¥ O 4, 6, 8, 12
16 F N 3 TR ye Rerclt § 2 99 FAA
2? | -
(A) 46 (B) 48

©50 - (D) 56

T AU U, q] BT A 105 BUY H qET
T d@ S 9% @ B Bl 81 30% M
FUN B AT TY g B fbw BrEd IR A
el

(A)T. 126 (B) %. 144

(©)®. 150 ' (D) %. 139

afe el diffe orrEr o difie |HTAISTT
2 a1, 5000 & AR W 4% a¥E W F 13

- af ¥ gegle @ BT AR GG EA?

(A)%. 2.04 (B) %. 3.06
(C)=. 8.30 (D)% 4.80

IR el U=l A 3R B @ Y BT AU 2
. 3 o7 3R IR A 41E Fg-5 : 7 & ol &,
Tq S IAA TG T PY?

(A) 36 el 3R 40 WA -
(B) 32 WTeT 3R 48 AT 9 -
(C) 40 WTe 3iR 56 WTel ;\

g
(D) 36 WTel 3R 52 AT S Lo

5 g9 Uh HM B 6 fadl H B Had g
safe 10 #fRemd S & @1 5 &A1 H R
g &1 5 AR 3R 3 gHY I B Bl
fpam oAt # @1 7 -
(A) 4 fe=1 (B) 5 fa=

C) sfem (D) sfeA

100 #I, o= YRS 30 faHl /€ET @ A
Y Td @ B e BH B Fhe @S Uh
aifdd @ IR B H M AT (AHUS H)
S DI | _
(A) 10 TFHTS (B) 11 AP

(C) 12 WHUS (D) 15 Q&vE 2% *

\':) \\)\-’\
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{759_ The average monthl'y income of A and B

60.

is Rs. 14000, that of B and C is Rs. 15600
and A and C is Rs. 14400. The monthly
income of C is:

(A) Rs 16000 (B) Rs 15000

(C) Rs 14000 (D) Rs 15500

The height of a conical tank is 60 ¢cm and
the diameter of its base is 64cm. The cost
of painting it from outside at the rate of
Rs.35 per sq. m is:

(A) Rs 52.00 approx (B) Rs 39.20 approx
(C) Rs 35.20 approx (D) Rs 23.94 approx

59.

| 60.

A d1 B @t i WIS 3ma . 14000, B
Tl C & 3ffad Afe 31T % 15600 Ud C
qr A &) aiga Aifid g B, 14400 21 C
D AMD A ST DY

(A) %. 16000 (B) ®. 15000

(C) %. 14000 (D) %. 15500

YEIER U BT SUE 60 WHI. AT SHD
AR BT A 64 VM. 2| IWB fdd g
B 6. 35 Ul A2 B IR W TH BT @E A
PN 7

(A) T T, 52.00 (B) TFTHT %. 39.20

(C) & 6. 3520 (D) T %. 23.94

61. In which district of Haryana is the urea = | 61, afar s sRamon & 5w e § Red &7
plant located? - (A) fBeR (B) Ry
(A) Hisar (B) Sirsa (C) Vg (B) T
(C) Rohtak - (D) Panipat _
62. NH-71A connects which two cities of 62. TAUE-717 BRATT & A a1 eI Y Sirsan
Haryana? g7
(A) Rohtak-Karnal (A) XTETH— el
(B) Rohtak-Ambala (B) Jgqdh— Tl
(C) Rohtak-Panipat (G) JEaH—arIId
(D) Rohtak-Faridabad (D) VBTHE—IRISTETS
63. Nahar Wildlife Sanctuary is located in | 63, &R a=gsild FHARYY BRATON B fpa foret
which district of Haryana? # Rera 87
(A) Rewari (B) Mahendragarh (A) Yarst (B) WEgTTg
(C) Palwal (D) Mewat - (C)yaaer (D) #a1d
64. Who was the first Governor of Haryana 64. BRI ST B UBS ISTUTS DI A7
state? ' (A) g o=t
(A) Dharma vira (B) uf*ish el wea
(B) Dhanik Lal Mandal (C) IRTH. Twell
- (C) R.S. Narula (D) o= aspac
: (D) BN Chakravarthy
65. Ason 2021, The Place of Haryana in 65. 2021 TP SFEeT A gfte & wRa ff R
India in terms of area is 7 BT A B AT E ?
(A) 19th (B) 20th (A) 19di (B) 20di
(C) 21st (D) 23rd (C) 21ai (D) 23at
66. Which famous folk dance of Haryana is 66. ERAOT BT B W wRig e J gt iR
performed by both Men & Women? - Afgenrel g gwT febar Sirar 22
(A) Tij Dance (B) Loor Dance (A) fosr T (B) T T
(C) Khodia Dance (D) Phag Dance (C) @fear g (D) BT T4
67. Who designed the High Court building of | §7. aSig & S=a ~rerd Wad @ ¥oig
Chandigarh? fpem T o an?
(A) Edwin Lutyens (A) Tsfem qfea
(B) Le Corbusier B) & ®idRmR
(C) Laurie Baker EC; gﬁ AP
(D) Both (A) and (B) (D) 21 (A) 3R (B)
e f

[a}
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68.

69.

70.

71,

72

73.

(A) Smile

74.

5.

H_ar_y.an_a is divided into how many

divisions?

(A) 4 ..(B)6

)8 (D) 10

Tomb of Ibrahim Suri is situated in?

(A) Narnaul (B) Bhiwani

(C) Rewari (D) Yamunanagar

Deer Park is situated in which of the

following place of Haryana?

(A) Meham (B) Safidon

(C) Kalanor (D) Kharkhoda

In the following questions, select the

related word from the given alternatives.
Touch : Feel : : Greet : ?

(B) Acknowledge

(C) Success (D) Manners

Rajiv is the brother of Atul. Sonia is the

sister of Sunil. Atul is the son of Sonia.

How is Rajiv related to Sonia?

(A) Nephew (B) Son

(C) Brother (D) Father _
If " — " stands for divisions " + " stands
for subtraction, " + " stands for
multiplication, " X " stands for addition,

then which one of the following equations

is correct?
(A)70—2+4—:—5 X 6 = 44
(B)7D—-2+4~:—5><_6=21

(C)70—2+4—:-5 x 6 = 341
(D)70-—2+4——:—5><6=36

In the following question, select the one
which is different from other three
alternatives. ,

(A) 40 —5 (B) 60 — 12

) 32 =4 (D) 88— 11

A man starts from his office and goes 5
km east. Then, he turns to the left and
again walks for 3 km. Again he turns left
distance is he

68.

69.

70.

11,

12

73.

74.

73,

gﬁawaﬁﬁmﬁﬂvﬁﬁmﬁwﬁ‘?

(A)4 (B) 6

(C) 8 (D) 10

TaTfEm |8 b1 7B Dl AT 87

(A) RATE (B) farir

(C) arst (D)THATTIR

fyur qrgt BRATON & Freferad # 9 fed
g W) Rerd €7 o

(A) 789 (B) wIeIT
(C) FelTR (D) @R@IaT
frder - A faT 7 fAwedl § 7 AR T
T BIFTT |

sl e BT ;¢ AATET ¢ 7
(A) &P (B) TR AT
(C) Fefd (D) Rremamr

Wm@ﬁﬁﬂﬁ?mﬁﬁqﬁﬂﬁm
%‘,a@ﬂqﬂﬁmaﬂga%‘,aﬁagmﬁﬁ
i T | A AT Hed &7

USENIEL (B) 44

(C) g (D) faar

gfe’- @7 ored & W, 4 @I aref @ wer,
‘wepr aref & TN, X' aref & wiredr, I

ﬁﬁ;ﬁ{ﬁaﬁ-ﬁiﬁaﬁﬂwwﬂwﬁ%‘?

(A)70—2+4+5><6:44
(B)70—2 +4+5x6 =21
(C)70—2+4—:-5><6=341
(D)70—-2+4+5><6=36
frefafad § & Wl @ 99 Sike BT g
aﬁww%mﬁw(@mw

e 8
(A)40—5 (B) 60 — 12
(D) 88 — 11

()RR~

v aredl AR e § o Fel
freiier od @ o) Tar| fx @' I
AR 3 fpeer @ | fR a8 <R 4l
sk 5 fpadier @ol| a8 ARG fdg

auﬁ‘\’s
il
AT
q

and walks 5 km. Atl\yl';at L v
-om the starting point Gl ‘ _ ,
i(::f:)m3 km (B) 4 km (A) 3 faHl (B) 4 foer
(C) 6 km (D) 7 km (C) 6 fodl. (D) 7 ey,
76. Find the missing number. 76. et ool § @ |&1 ?IfTﬁ I |
- 33,28,24,7,19,18 "33,28,24,2,1918 ., .
(&) 21 (B) 22~ (A) 21 aa(B) 22
(C) 20 (D) 23 (C) 20 (D) 23
10 TOATSET

-
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78.

80.

19

rmB-ERALIZATION’ is coded as

34256134918470, then
*AERATIONcan be coded as:
(A) 15168470 (B) 1518647
(€) 15618470 (D) 51618471

In this question two statements are given
followed by two conclusions I and II.
You have to consider the statements to
be true even if they seem to be at
variance from commonly known facts:
You have to decide which of the given
conclusion, if any, follows from

the given statement.

Statements

I. Some birds are clouds

11. Horse is a bird

Conclusions

I. Some clouds are birds

I1. Horse is not a cloud

(&) Conclusions [ follows

(B) Conclusion II follows -

(C) Either conclusion I or II follows
(D) Neither conclusion I nor II follows.

In a row of boys, Srinath is 7" from the
left and Venkat is 12" from the right. If
they interchange their positions, Srinath
becomes 22™ from the left. How many
boys are there in the row?

(AY19 (B) 31

(C)33 (D) 34

Find the missing number from the given
responses in each of the following ‘
question.

AA grs V)
5% o
6 gar =4

77. TfLIBERALIZATION’ @I U&% & WIHI
¥ 34256134918470 fora@m WY, o 99 &HC
a7 % ‘AERATION® & fbs wapre foran
SATC?

(A) 15168470 (B) 1518647
© 15618470 (D) 51618471

78, FrefefEd wad g A 31 qadel @ Il
ot fyepd 1 el I Ry g € 3y |y
o deall ¥ afeR B W oA Sl gadal o
qedTe, I WHEER dX | Y qd B b
ﬁqwﬁﬁﬁﬁﬁﬁaﬁ?—m,zrﬁm‘ls‘%’r.
faw 77y qaeEl O e €|

I :
[ @o ueh aed |
T e R
o :
[ o aed @l 2
[I. ®Yer agd T8 2|
(A) Forerd [ faperr 2 |
(B) frepd 1 Frpetar 2 |
(C) frspd 1 Frerar LIfaer 2 |
(D) =1 @t freps [ sl =1 & fepd 11 faert

gl
79  weFl B T ufed § e At § wadt ®
qorr dpe T W gREdl| gk 9 AT I
qed o, o AR A W 229 WH W E
o & | dfe ¥ gt feoe ded §7
(A) 19 (B) 31
(633 (D) 34

g0 frefoRed wde weel § R Ty fawed #
N A S AT

‘-’5 “WM

13 a 29 A\

Y
(A)223 (B) 224 3" g (A)223 (B) 224
(@225 (D)227 - &S’ (C) 225 (D) 227
81. In the following questions, select the 81. fadw: # fRu v faweut # @ wafad e
related word frq{n the given alternatives. . ST Eﬁﬁ:\“ﬂ | i .
Hour : Second : : Tertiary L9 °el : 4ds ¢ gdad: ?
(A) OI:dmary . (B) Secondary (A) ?I'I'&IWUTI: N W
(C) Primary (D) Intermediary (C) wafas Eg; el
LR | # ‘
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82.

83.

84.

85.

86.

87.

rﬁh—k

Gopal said, pointing to Govind “His

father is my father’s only son”. How is

Gopal related to Govind?

(A) Grandfather ~ (B) Grandson

(C) Son (P) Father

If - stands for +, + stands for X, +

stands for - and X stands for + find out
which one is correct.

(A)49Xx7+3+5-8=16

(B)49+7x3+5—-8=26

(€C)49+7-3x5+8=20

(P)49 —7+3+5x8 =24

In the following question, select the one

which is different from other three,

alternatives. i _
(A) 121 - 196 (B) 144 — 225
(@) 36 — 83 (D) 16 — 49

Mohan travelled westward 5 km, turned
left and travelled 3 km, turned right and
travelled 9 km. He then travelled north 3
km. How far he is from the starting

- point?

(A) 5 km (B) 3 km
(C) 6 km (P) 14 km
Find the missing number.
1,1,6,6,11:11,16,7,2
(A) 13,11 (B) 16, 21
(Cy11,.21 (D) 21, 16

If police is called teacher. Teacher is

politician, politician is doctor, doctor is

lawyer and lawyer is surgeen, then who

will catch criminals?

(A) Teacher ~ (B) Doctor

(C) Police (D) Lawyer
AR

N 4o

82.

83.

84.

85.

86.

87.

Mo ¥ Mg @) R FIN
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RIT &1 @ frefarea ¥ @ FA-w 0@
el 8?

(A)49x7+3+5—-8=16

(B)49 +7x3+5-8=26
(C)49+7—-3x5+8=20
(D)49—7+3+5x8=24

Prafufeg § & @Rl @ 99 dIs B
v o wre o @ e § IE (IO
Aeferd BRI

(A) 121 — 196 (B) 144 — 225

(C) 36 —83 (D) 16 — 49
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88.

D~V

89.

90.

a1

92.

Two statements are given followed by
two conclusions I and II. You have to
consider the two statements to be true
even if they seem to be at variance from
commonly known facts. You have to
decide which one of the given

conclusions is definitely drawn from the

given statements.

Statements
Some Indians are educated
Educated men prefer small families

Conclusions

(1) All small families are educated.

(II) Some Indians prefer small families.
(A) Only I follows

(B) Only II follows

(@) Both I and II follow

(D) Neither I nor II follows
In a row of 16 boys, when Prakash was

shifted by two places towards the left, he
became 7" from the left end. What was
his earlier position from,the right end of
the row? '

( A) 7lh (B) Sth

©)9" (D) 10"

Find the missing number from the given
responses in each of the following
question.

125 2

(A) 127
(€) 216

(B) 31
(D) 328

Which daughter of Haryana has made a |

national record for making 3 mm boat?
(é) Ankita Desai ~ (B) Kavita Sharma
(C) Urijit Gopinath (D) Sakshi Garg

EOW many Haryana Police personnel
N}ilve. been awarded the Union Home
Inister Medal in January 20207

(A)5
)7 Eg))g
P— M
M= R

a—D
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In which district did the Governor of
Haryana hoisted the flag on the occasion

of Republic Day 2020?
(A) Hisar (B) Karnal
(C) Ambala (D) Gurugram

97. Which player from Haryana has become
the 229th ODI player of India?
(A) Aman Malik
(B) Kuldeep Chahar
(C) Yuzvendra Chahal
(D) Navdeep Saini

O8. Which Haryanvi player has been
conferred the Sports Person of the Year
2019 award by FICCI? _
(A) Savita Poonia (B) Deepti Rani
(C) Kamlesh Kumari (D) Rani Rampal

09, Which scheme has been launched by
Haryana to keep a watch on illegal
mining?

(A) Jan Jagran Yojana
(B) e-Ravana Yojana

(C) e-monitoring scheme
(D) Tracking scheme

100. In which city of Haryana was the 68th
All India Police Wrestling Competition

organized?
(A) Surajkund (B) Palwal
(C) Gharaunda (D) Gurugram

98.

100. ‘g8 df arer gfear gfera waferr wfoaiRan

Date.
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AU 3 g forer ¥ wier wewan en?

(A) feur (B) #wTer
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